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is_mmammal, eats_meat?

3

4

has_pointed_teeth, has_claws, has_forward_eyes?

FAIL FAIL FAIL

8

SUCCESS

1 2

has_hair? has_milk?

SUCCESS FAIL

is_mmammal, eats_meat?

3

4

has_pointed_teeth, has_claws, has_forward_eyes?

FAIL FAIL FAIL

8

SUCCESS

1 2

has_hair? has_milk?

SUCCESS FAIL

is_dangerous?

is_cheetah? is_tiger?

SUCCESS

9 10

SUCCESS

11

5

12

6

is_carnivore, has_tawny_colour, has_dark_stripes?is_carnivore, has_tawny_colour, has_dark_spots?

9

SUCCESS FAIL
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FAIL

has_pointed_teeth, has_claws,

has_forward_eyes,

has_tawny_colour,

haS_dark_spots?is_mmammal, eats_meat,

has_tawny_colour,

has_dark_spots?

has_hair,

eats_meat,

has_tawny_colour,

has_dark_spots?

eats_meat, has_tawny_colour, has_dark_spots?

7

8

has_tawny_colour, has_dark_spots?

9

has_dark_spots?

10

SUCCESS

has_milk, eats_meat,

has_tawny_colour,

has_dark_spots?

FAIL

is_dangerous?

is_cheetah? is_tiger?

11

5

12

6

is_carnivore, has_tawny_colour, has_dark_stripes?is_carnivore, has_tawny_colour, has_dark_spots?

3
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1 2

FAIL

has_pointed_teeth, has_claws,

has_forward_eyes,

has_tawny_colour,

is_mmammal, eats_meat,

has_tawny_colour,

has_hair,

eats_meat,

has_tawny_colour,

eats_meat, has_tawny_colour, has_dark_spots?

7

8

9

has_milk, eats_meat,

has_tawny_colour,

FAIL

haS_dark_stripes?

has_dark_stripes?

has_dark_stripes?

has_dark_stripes?

has_tawny_colour, has_dark_stripes?

has_dark_stripes?

FAIL
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1 {X/tom}

2

gparent(tom,Z)?

parent(tom,Y), parent(Y,Z)?

parent(tom,tom)?

FAIL

{Y/tom,Z/jo}
3
{Y/jo, Z/bob}

parent(tom,jo)?

2

SUCCESS

4
{Y/jo, Z/jim}

parent(tom,jo)?

2

SUCCESS

‘‘substitutions’’
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less_than(one,Y)?

1 {X/one}

succ(Y,one}?

3 {Y/two}

SUCCESS

2 {X/one}

3 {Z/two}

succ(Z,one), less_than(Z,Y)?

less_than(two,Y)

1 {X’/two, Y’/Y}

succ(Y,two)?

4 {Y/three}

SUCCESS

2 {X’/two, Y’/Y}

succ(Z’,two), less_than(Z’,Y)?

4 {Z’/three}

less_than(three,Y)?

1 {X’’/three, Y’’/Y}

succ(Y,three)?

FAIL

2 {X’’/three, Y’’/Y}

succ(Z’’,three), less_than(Z’’,Y)?

FAIL
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married(X)?

2 {X/john}

SUCCESS

FAIL

bachelor(X)?

1

bachelor(X)?

1

not(married(X)), male(X)? not(married(X)), male(X)?

3 {X/john} 4 {X/bill}

not(married(john))? not(married(bill))?

married(john)?

2

SUCCESS

FAIL

married(bill)?

FAIL

SUCCESS

Leftmost literal computation rule

Rightmost literal computation rule
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1. SS(P,S)

2. FF(P,R,S)

3. IF(P,R,S)


